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Figure 1: (a) undirected graph and (b) directed graph.

Exercises

1. Given Figure 1(a), define the following:

(a) Write at leat one simple cycle.

(b) Write at least one sequence which start is A and whose end vertex
is F.

(c) Write the degree of vertex D.

(d) Write the four edges for the subgraph {A, B, E, D}.

2. Given Figure 1(b), define the following;:

(a) Write at least one cycle.
(b) Write the outdegree of D.
(c) Write the indegree of D.

3. Given Figure 2, compute the following constraints in relational form:

(a) Ris
(b) Ris.



Figure 2: The 4-queens constraint network.

Answers

1. (a) (4,B,D,C,A)
(b) (A,B,D,F)

)
)
(c) 3
(d) {(A,B), (B, E), (4, E), (B, D)}
2. (a) The directed graph is acyclic
(b) 1
(c) 2
3. (a) Ri3=1{(1,2),(1,4),(2,1),(2,3),(3,2),(3,4),(4,1),(4,3)}.
(b) Ria ={(1,2),(1,3),(2,1),(2,3),(2,4), (3,1),(3,2), (3,4), (4,2), (4,3)}



